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Guess Paper – 2013
Class – XII
Subject – Computer Science
These types of questions regularly come in CBSE Board exam [Total Marks= 30]
C++[ Marks :-2+2=[04]





Question 1-What do you mean by static variable? Explain with help of example.
 OR

What is Function Overloading? Give an example in C++ to illustrate the same.
OR
 Differentiate between an identifier and keywords.



OR
 Differentiate between object oriented programming and procedural programming 
OR   

 What do you understand by Copy constructor? Specify two instances when copy constructor is invoked?
 

Question 2-Write header file for function given below. [2 marks]  
Getch(),sqrt(), strcpy(), exit(), strcmp( ), sin( ), getc ( ), , isalnum ( ), scanf ( ), getxy ( ), log10( ),arc( ),gotoxy(),srand()        DBMS [Marks :- 2+6=[08]
Question 3-  
What do you understand by Degree and Cardinality of a table? 

OR
    a) Define      i) Cardinality                ii)   Candidate Key                            OR
What do you mean by Candidate Key and Foreign Key?



OR
Explain Cartesian Product of two relations?



OR
Explain Candidate key and Relation?


Question 4-Write SQL command for (a) to (d) and write the outputs for (e) on the basis of table



                                                            Table : CLUB

	COACH-ID
	COACHNAME
	AGE
	SPORTS
	DATOFAPP
	PAY
	SEX

	1
	KUKREJA
	35
	KARATE
	27/03/1996
	1000
	M

	2
	RAVINA
	34
	KARATE
	20/01/1998
	1200
	F

	3
	KARAN
	34
	SQUASH
	19/02/1998
	2000
	M

	4
	TARUN
	33
	BASKETBALL
	01/01/1998
	1500
	M

	5
	ZUBIN
	36
	SWIMMING
	12/01/1998
	750
	M

	6
	KETAKI
	36
	SWIMMING
	24/2/1998
	800
	F

	7
	AMKITA
	39
	SQUASH
	20/02/1998
	2200
	F

	8
	ZAREEN
	37
	KARATE
	22/02/1998
	1100
	F

	9
	KUSH
	41
	SWIMMING
	13/01/1998
	900
	M

	10
	SHAILYA
	37
	BASKETBALL
	19/02/1998
	3700
	M



a) To show all information about the swimming coaches in the club.
b) To list names of all coaches with their data of appointment (DATOFAPP) in descending order.
c) To display a report, showing coach name, pay, age and bonus (15% of pay) for all coaches.
d) To insert a new record in the CLUB table with the following data:
  
11,”Rajender”,25,”Football”,{27/05/2004},4500,”M”
e) give the output of the following SQL statements:
  
i) Select count(distinct SPORTS) from CLUB;
  
ii) Select min(AGE) from CLUB where SEX=’F’;
   
iii) Select AVG(PAY) from CLUB where SPORTS=’KARATE’;
   
iv) Select SUM(PAY) from CLUB where DATOFAPP>{31/01/98};

DCN [Marks :-04]

Question 5- Akruti Software Inc has set up its new Branch at Bangalore for its office and web based activities. It has four wings of buildings namely A , K, R , S.





The distance between the wings are as follows :




Wing A to K 


40 M




Wing K to R


120 M




Wing  R to S 


60 M




Wing A to S 


170 M




Wing K to S


150 M




Wing A to R


70 M
i) Suggest a most suitable topology along with layout for connecting all the four wings.

ii) Suggest the most suitable place to house the server with suitable reason.

iii) Suggest the placement of the following device with justification.

a) Repeater


b) Modem

iv) The organization is planning to link its head office situated in Delhi with the offices at Bangalore. Suggest an economic way to connect it; the company is ready to compromise on the speed of the connectivity. Justify your answer.

Data Structure[Marks :- 4+2=[06]

Question 6- [a] An array Arr[15][20] is stored in the memory along the row with each element occupying 4 bytes. Find out the Base Address and address of the element Arr[3][2], if the element [5][2] is stored at the address 1500.

OR

An array V [20][15] is stored in the memory along the column with each element occupying 8 bytes. Find out the base address of the element V [2][3] if the element V[4] [5] is stored at the address 1000.


[b] Convert the expression (TRUE && ! FALSE)|| (FALSE && TRUE) to postfix expression.  Show the contents of the stack at every step
         
OR

 Evaluate the following postfix notation of expression (show status of stack after execution of each operation):
4,10,5, +,*, 15, 3, /,-               




Boolean Algebra[Marks :- 2+1+3+2+1=   [08]
(a) State and algebraically verify Absorption Laws . 


OR State and algebraically verify de morgan Laws.





(b) Write the POS form of a Boolean Function F, which is represented by the following truth table: 










	A
	B
	C
	F

	0
	0
	0
	0

	0
	0
	1
	1

	0
	1
	0
	1

	0
	1
	1
	1

	1
	0
	0
	1

	1
	0
	1
	0

	1
	1
	0
	0

	1
	1
	1
	1


(c) Obtain the simplified form of the Boolean Expression using K’ Map:




F( x , y , z, w) = ∑ (0,2,4,5,8,9,12,13,15)

    (d) Write the equivalent Boolean Expression for the following Logic Circuit.


[image: image1.emf]
(e) Write the equivalent Canonical Product of Sum for the following expression.

F(A,B,C) = ∑(1,2,3,4)
[image: image2.jpg]
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The number of computers in each wing is shown below:


		Wing A	25


		Wing K	50


 		Wing R	125


		Wing S	10
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